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ACHARYA VIDYA KULA
HALF YEARLY EXAMINATION —NOVEMBER 2018
CLASS -Vl MAX MARKS:60
MAX TIME: 1hour 55 minutes.
MATHEMATICS
GENERAL INSTRUCTIONS
Answer to this paper must be written on the paper provided separately

You will not be allowed to write during the first 10 minutes. This time is to be spent in
reading the question paper.

Section A is compulsory and any three questions from Section B.
All working must be shown on the same sheet.
All Geometrical figures must be drawn.
This paper containsl; prin ted sheets.
SECTION - A (30 MARKS)

ANSWER ALL QUESTIONS FROM THIS SECTION.

QUESTION:1
a.67x19 is a multiple of 11. Find least possible value of digit x [2]
b.Factorise: 16 (a+6b)> - 9 (a-3b)? [3]

c.Find the number of sides of a polygon, the sum of whose interior angles is 1620° [2]

a b c
d.SimpIify:— (i_b )a+b X (i—c )b+c X (’% )c+a [31

QUESTION:2
a. What least number must be added to 2945 to get a perfect square number? Find the
square root of the resulting number. [3]

1
bIf (x+-)=3
ralinE—8 madl
find (ii) x - (i) x {5 [2]
c. In a quadrilateral ABCD, i .. " " < _ .. ' itisbeing given that AB Il DC.

3
lA:D =2:3andB:|C=4:5. Find the measure of each angle of quadrilateral ABCD. [ _'I
d.Find the radius of a right circular cylinder whose volume is 3080crr%and height is 20cm. l: aj
QUESTION:3

a.Solve: + _x+2 =

x2 X
] 3 a =23
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b. What is the smallest number by which 3087 must be multiplied so that the resulting
number is a perfect cube? [2]

c.Given A={2,4,6,8,10,12,614,16,18,20}
B={3,6,9,12,15,18,21}
C={5,10,15,20,25}
Showthat AUB)UC =AU (BUC) [3]

d.Draw a straight line AB = 7.5 Cm. Draw another line which is parallel to AB at a distance of
3cm from it. [2]

SECTION B ( 30 MARKS)

(ANSWER ANY THREE FROM THIS SECTIOIQ.

QUESTION:4

a.Simplify: 3x + 79— [2x+ 2y—{x—y —(2x + 2y -x—y)} [3]

18 —7 47
b.By what rational number should the sum of ? and E be divided to get & ?[2]

c.Find : i. The curved surface area.
ii. The total surface area.

iii. Volume of a right circular cylinder.

Whose height is 13.5 cm and radius is 7 cm. ’ [3]
d.Factorise: 5ph —10gk + 2rph — 4qgrk. [2]
QUESTION:5
a.lf 3¢ 9=27. Find the value of x. [2]
bSolve:i. 3 A B i) P Q .
+A B2 X 3 t=]
8 1 9 10 Q

c. Kiran is 24 years older than Rakesh. 10 years ago Kiran’s age was five times the age of
Rakesh. Find their ages. [ 3]

d.An angle in a quadrilateral measures 72° . If the other three angles are in the ratio 5 : 6 : 7,
find all the angles of the quadrilateral. {59 ]
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Question - 6

a.5000 chairs are to be arranged in rows and columns, such that the number of rows is
equal to the number of columns. Wil alithe chairs be accommodated in this arrangement ?
If not, how many will be left out? [2]

b.Ifa+b+c=9and a;.L'+b:I’f+c2I=29.Findab+bc+ca. 2]

C. In the adjoining figure, ABCD is a parallelogram and X,Y are points on diagonal BD such
that DX = BY. Prove that CXAY is a parallelogram.

D C [3)

d.Given § ={x:xisanevn number,x < 20 x €N} [3]
A={x:xisamultipleof4,x < 20,x€N}

B={x:xisamulitipleof 8, x < 20,xEN}

Find.
JAN B V) A - B
i) A-B ve'-a
i) B— A Vi)AU B
Question -7
a.Insert 7 rational numbers betweeng and_% [2]
b. Find the quotient and the remainder (if any) when 2x‘3’-8x1+5x-8 is divided by x-2 [3]
c. ABCDE is a pentagon, with sides AB Il ED and|B :[C:[D =5: 6 : 7. Find the measure of angle
B,Cand D. 0 " D [3]
7
c
) p g 13
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d. Find the cube root of 1728. [2]
QUESTION:8

a.The ratio of the number of sides of two regular polygons is 1:2 and the ratio of the sum of
their interior angles is 3:8. Find the number of sides in each polygon. [3]

b.Two sets A and B are such that ANB =)ZK Draw a Venn diagram to show the relationship
between A and B. Shade the region representing:

i.AUB ii. (AUB)‘ jiii. B—A [3]
c.Multiply: 23-7%%8 by 3x%l- 2x [2]

-3
d. Evaluate: {(-3/2)} [2]




